AP Calculus
Answers for FR 2c
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(a) Area = .[o [g(x) - f(x)]dx
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(b) Volume = /‘rJ.o2|:(4—f(x))2 -(4 —g(‘X))z]dx
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(c¢) Volume = J.j[g(x) -f (x)]2 dx
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1 : integrand
2 : antiderivative
1 : answer

2 : integrand
1 : limats and constant

1 : integrand
1 : limats and constant
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% =3P -61)=-3
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An equation for the tangent line1s y = -3(x —1).

f(12)~-3(12-1)=-06

-<?=P-31%+c>cCc=1
-V = -3x* +1

e =—x +3:2 -1

-y =In(-x’ +3x2—l)

y= —ln('—x3 +3x% - l)

Note: This solution is valid on an interval containing

x =1 for which —x° +3x*> =1 > 0.
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1 dx
1 : tangent line equation

1 : approximation

at the pomnt (x, y) =(1,0)

: separation of variables
- antidenvatives

: constant of integration
- uses initial condition

- solves for y
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e e e = B

Note: max 3/6 [1-2-0-0-0] if no constant of
integration

Note: 0/6 if no separation of variables



